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] il [==! 20254 7H297
TaOBYERBBRL ETFET,
1 “H &
2. ZEHR
3. WASGRT R
4 XHAHE
5 BXHEIR
No. LR TeELS ==Xiil #=E | BHAL & %8
EEIE - - - -
BE 15,000 1 = 15,000
TREITHR Aviasge 15,000 8 m 120,000
e 25,000 1 = 25,000
R4TE - - - -
BRERBIE 45,000 1 = 45,000
BEARIK 50,000 1 = 50,000
PRERIK 50,000 1 = 50,000
K I HRIK 40,000 1 = 40,000
[EDYI=E 35,000 1 = 35,000
- R2HE 65,000 1 = 65,000
AN E 18,000 6 m 108,000
ATTH - - - -
R AR 250,000 1 = 250,000
Bt % 150,000 1 = 150,000
KF+-BET - PBAS 235,000 1 = 235,000
JOVRIE 120,000 1 = 120,000
hova—EE 150,000 1 = 150,000
BRBETE - - -
iR A 130,000 1 = 130,000
fRBAz 2 12,000 8 a 96,000
MEE 65,000 1 = 65,000
BITE 130,000 1 = 130,000
BlEME Mo 40,000 1 = 40,000
HEE B8 50,000 1 = 50,000
INET 1,969,000
SHEB(10%) 196,900
& &t 2,165,900
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2. =ZEHA
3. WRAZRT b17h:1)
4 XIAHE
5 BRhEIR
No. LR oy == i WE | B & %A
BHKRHIE - - - - -
& A - 100,000 1 =% 100,000
Ee3 o - 45,000 1 =% 45,000
BEIRA - 40,000 1 =% 40,000
B - 60,000 1 =% 60,000
HER BEME - 30,000 1 =% 30,000
HABEIE - - - - -
BE A - 50,000 1 =% 50,000
B - 20,000 1 =% 20,000
A—R—EE - 30,000 1 =% 30,000
HER BEME - 15,000 1 =% 15,000
RET=E - - - - -
HOR RER - 1,500 180 m 270,000
K EEA1IL - 4,500 40 i 180,000
RY &% - 30,000 1 =% 30,000
et —h - 7,500 25 m 187,500
T HbALTER B - 50,000 1 =% 50,000
BET=® - - - - -
JOVNEER HE - 250,000 1 =% 250,000
I - 30,000 1 =% 30,000
Z0Mt - - - - -
AR - 320,000 1] vk 320,000
=DV - 35,000 1] vk 35,000
L - 20,000 1] tuk 20,000
UK - 45,000 1] tuk 45,000
T—R-BEE - 120,000 1 = 120,000
1,927,500
SHER(10%) 192,750
& &t 2,120,250
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TaOBYERBBRL ETFET,
1 “H &
2. ZEHR
3. WASGRT R
4 XHAHE
5 BXHEIR
No. LR TeELS ==Xiil #=E | BHAL & %8
28 #H 25,000 2 vk 50,000
I R—*f 35,000 1 N 35,000
2> 20,000 1 = 20,000
HIX 45,000 1 = 45,000
h5%s 245 85,000 1 vk 85,000
ERLBE 18,000 4 m 72,000
RIGERE 150,000 1 = 150,000
ERE 100,000 1 = 100,000
wATH - - - -
XAt <IILFIF7IV 385,000 1 = 385,000
EIE 150,000 1 = 150,000
AONTHE 75,000 1 = 75,000
ERIE _ _ _ —
MR BREE 60,000 1 vk 60,000
BFEO 35,000 1 vk 35,000
B _EEAT & 15,000 1 = 15,000
AERLEN 45,000 1 = 45,000
BlEELY)—=2F 45,000 1 = 45,000
1,367,000
SHEB(10%) 136,700
& &t 1,503,700
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